
 

 

Answer on Question #65102 – Math –  Algebra 

Question 

How many grains of rice would it take to cover Florida one meter deep? 

Solution 

The total area of Florida [1] is  

𝑆 = 170,304 𝑘𝑚2 = 17,0304 ∙ 10 7𝑚2. 

We have to cover it with rice volume 

𝑉 = 𝑆 ∙ ℎ,  

where ℎ = 1𝑚. 

Thus, 

𝑉 = 17,0304 ∙ 10 7𝑚3. 

Bulk density of hulled and polished rice [2]  is  

𝜌 = 769 𝑘𝑔/𝑚3. 

So, the total mass of rice is 

𝑚 = 𝜌 ∙ 𝑉 = 769 ∙ 17,0304 ∙ 10 7 = 13,0963776 ∙ 1010 𝑘𝑔. 

Rice grains vary widely. One grain of long-grain rice weighs about 1/64 of a gram [3]. 

It is equal to 

𝑚0 =
1

64
∙ 10−3𝑘𝑔. 

Thus, the number of grains of rice would be 

𝑁 =
𝑚

𝑚0
=

13,0963776∗1010

1

64
∙10−3

= 838,1681664 ∙ 1013. 

Answer: The approximate number of grains of rice is 838,1681664 ∙ 1013. 
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